Name:  _____________________________ (please print)

Signature: __________________________

ECE 2300 – Quiz #6

July 15, 2002

Keep this quiz closed and face up until you are told to begin.

1.  This quiz is closed book, closed notes.  You may use one 8.5” x 11” crib sheet, or its equivalent.

2.  Show all work on these pages.  Show all work necessary to complete the problem.  If you go on to another page, indicate clearly where your work can be found.  A solution without the appropriate work shown will receive no credit.

3.  Show all units in solutions, intermediate results, and figures.  Units in the quiz will be included between square brackets.

4.  Do not use red ink.  Do not use red pencil.

5.  You will have 30 minutes to work on this quiz.

________________/20

Room for extra work

Find a numerical expression for the power absorbed by the 47[] resistor in the circuit below, as a function of time, t.  The circuit is in steady state.  The expressions for the sources are 
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Quiz 6 – July 15, 2002 – Shattuck Section – ECE 2300 – Solution 

Find a numerical expression for the power absorbed by the 47[] resistor in the circuit below, as a function of time, t.  The circuit is in steady state.  The expressions for the sources are 


[image: image3.wmf](

)

(

)

1

1

rad

()15cos12138[V], and

s

rad

()100sin1248[mA].

s

S

S

vtt

itt

éù

=+°

ëû

éù

=-°

ëû


[image: image4.png]Q’AO[;‘_}

50 lu‘l‘-'o.n: Co,\uer—é fo PAGJ'OI‘ alomcin, NOéC leG‘é
the 'S‘[HB (\ﬂo(“(_'{"b/‘) looC/AFJ CQF‘-‘( ,‘for) ;’;go[jg re;p.r'(‘orl

Gad "‘70[10 resistor Gre  ia Series with 4
Curren{' Soul‘ce) or ,'n ;qu‘c.//el uflLL. Q Uo/l’“ﬁj(

Source, aad cCcan be ;5,,0«,1 heve., Mate also thet

Ly (£)= 100 cos (120t227 € ~yg° _90°) {mA3.
240, §0]

T, = VSIM: °fv
Lo (1) S @Yl

100/-138°
[mA}




[image: image5.png]K¢L 5[\/{5

amnanney

ey

am

V. - 17 1S 138%v
= — + 22— + 3 + Vam* SO e
97§23 ~-83,{n3 X AYo;{n) 156 bty
and~  Ohm's Lau 9 ves
- } U
Ix - 4
973

Vi (:—2—— + -1 + A\ - 1848 + 0.14-138°
97 £ AYo) ~AY0,

Ve = 16Ax/0734-136° .
33%03 L 1gg.50 = BISLE4E L]

(D)= a5 cos(mi%*jbvtsg.?) v}

TL\““)

C Ut L (325) 2/ el
Pabs,.,‘n{n - :{—7-5132 ___L_/,;__,_ (os ([1[%]%1-5‘,{{")[&1}

Pabs,¥7{n} = 299 ‘cosl(:ag-‘*jf +54.8) fmw]





_1088232439.unknown

